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28 P2 i PR & &R 18 FERE
/&)

% g 6-10 7.8-9.3 8.8 pss
HEE (mg) 100 22.5-75.2 474 pss
BiEE V)42 (mg/) 10 <2 <2 s
MY E (ng/l) 2000 294 - 1406 623 pss
WAL 48 & (me/) 10 <0.5 <0.5 =
FLYEE (mg/)) 0.1 <0.04 <0.04 =
BOTEIRE A E (mg/) 100 <15-355 24.1 yoss
HAE  (mg/l) 20 <10-10.2 10.0 yoss
Mm&EE (mg/) 0.5 <0.3 <0.3 yoss
BER R E  (me/) 1 <0.6 <0.6 =
FHEMEE] (mg/) 15 <7 <7 =
EEFEE (mg)) 2000 169 - 769 343 yoss
AR E (g 200 14.4 - 58.3 28.1 yoss
M (0) 43 25-29 27.7 yiss
DR /K= EOEHER | B E DL | BEHIE DL =
EEeE

- (mg/) 2 <0.4 <0.4 =
2 (mg/l) 5 <1 <1 =
% (mg/l) 0.1 <0.1 <0.1 =
¥ (mg/D) 1 <0.3 <0.3 s
#1  (mg/D) 2 <0.5-1.5 0.7 yiss
#5 (mg/l) 2 <1-1.0 1.0 yass
il (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 s
58 (mg/l) 2 <1 <1 =
R (mg/) 2 <0.4 <0.4 =
# (mg/l) 5 <1 <1 T
# (mg/l) 2 <1 <1 =
HHE2BYEEHS (ng) 10 <7-172 7.1 =
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B (mg/l) 5 <1-28 1.8 v
#  (mg/) 10 <2 < yass
2 8E
Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 s
AL LT (mgl) 0.01 <0.01 <0.01 v
FEZELEEY
K (mg/) 0.1 <0.06 <0.06 yes
HEHEMEey :
1,1,1-= & Z B (mg/) 0.05 <0.025 <0.025 =
ZEBEE
% &5 K 48 & (mg/) 0.003 <0.003 <0.003 s
A EE -
B BB & (pc/l) 10000 <10000 <10000 v
#%-226 (pc/l) 30 <30 <30 s
§8-90 (pe/D) 100 <100 <100 =
# FECBEEETE M 5 R 8% 8 8- 800k - 87 R -
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E3 75 i IR &t = W 1 8 FERE
B/R)

() =+4oeEvsE @
iR (mg/m’) 30 0.0 - 0.5 0.1 vy
— &AL (mg/m’) 200 0.0 - 108.9 4.9 vy
BEilE (mg/m’) 60 0.5 - 15.7 2.7 vy
#FALE (mg/m’) 4 0.0 - 0.1 0.0 =
A8 1LY
(Bl = & 1k & = &) 400 61.9 - 222.0 118.0 yos
(mg/m’)
A R (mg/m’) 20 0.0 - 3.0 0.1 pes
— & /B % (mg/m”) 100 0.0 - 53.7 4.3 pes
(z) HigE @
ok (mg/m?) 10 0.0 - 0.1 0.1 pes
— &1 bR (mg/m’) 50 0.7 - 203 5.0 pes
EElE (mg/m’) 10 1.6 - 4.4 2.7 =
#IEE (mg/m’) 1 0.00 - 0.01 0.00 =
ALY
(Bl — &1k & 5 &) 200 81.9 - 145.7 117.7 =
(mg/m’)
4 TR (mg/m’) 10 0.00 - 0.29 0.07 =
— E B % (mg/m’) 50 1.1 - 107 4.3 =
(H) Hftr
AR EEY
(L@ R & &2 H) 24 3.6 3.6 yia
(mg/m’)
AR ARALEY
(Ulaitfa 25t &) 18.8 <l4 <14 yea
(mg/m’)
e F& (LLWR BE 5T &) .
(ma/m’) 37.5 1.7 1.7 =
Bi4a g (CIRBEETE) (mg/m) 55 <0.22 <0.22 Lt
H R RABEE (mg/m’) 5 <17 <17 2
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EaeBE—8"Y
BB G —H))n 4
AELE RN 0.05 <0011 <0.011 2
= (mg/m’)
EEeBE_E Y
W (mg/m’) 0.06 <0.002 <0.002 yiea
W8 E () e
REZEG =B 0.5 <0.074 <0.074 =
= (mg/m’)
& (mg/m’) 0.05 <0.002 <0.002 yiea
T (ng/m)) 0.075 0.006 0.006 =
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(B/E&)
F—E
8 (H [
B i 125 (/K) (E'Jiﬁ B 116 124 2
)
EEE S (%) |0 (;’Eﬁlﬁ 5593 69.6 2
)
EEEE
#% (ppm) 0.5 <0.5 <0.5 ik
7K (ppm) 0.1 <0.02 <0.02 =
A E (ppm) 10 <0.5-0.75 0.51 y3
#1  (ppm) <0.5-59 1.6
##  (ppm) <0.5-1.1 0.5
#r  (ppm) <1.0-2.8 1.2
# (ppm) <0.5-3.7 1.3
ST R T I = | .
WE (ppm) 25 <2.5-9.1 47 T
# (ppm) 20 <1 <1 =
ALY (ppm) 10 <5 <5 pies
A FE (ppm) 10 <.0-55 2.5 pies
=L (ppm) 5 <5 <5 pies
B
= g% 2% 1y L
HEIE R HY = 5000 <15 <15 =
= (ppm)
H 1% EA _
(ppm) 10 <5 <5 =
ALKy 42 = .
(ppm) 2 <2 <2 =
% &N (ppm) 1 <1 <1 yiss
TCDD (ITEF %) =
(ppb) 1 <1 <1 =




